Installation for stand components

1.0pen Front cover with Key, Take out the bottle
and pump

Bottle

Screw M4x10 2 Screw M4x20
(6pcs) (3pcs)

A . Open Front Cover

1.Put advertising photo inside of 2pcs AD board

Screw M4x10

Advertising
photo

*Advertising photo size:18x18cm

2.Install the Tray and AD board on the Back holder

Screw M4x20
(3pcs) Nut M4
(3pcs)
-
&
-
Back holder
Nut M4
Screw M4x10 (2pcs)

(2pcs)
Tray

B ., Install AD Board and Back
Holder with Tray

Base c

Base screw/Nut —— &
|

Screw M10

(At hix chepenses uss this
screw o lock)

Pole3

Pole2

Pole1

C A Install Pole and Base

' A

*Fix 4pcs C size batteries, Fill liquid and tum on the switch
Enjoy your health

D . Enjoy the automatic Dispenser




